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Munsell System Y,,=100, Mex
M,..C=2,V=1,2,5,8&9, Mex
migstohe chromaticity diagram (x, y)

CIE 1931 X

Xw=96,79Y,,=100,00Z,~111,46 B,
%y=0,3140y,,=0,3243 1
Ap= (@~ [agn*agy+agal) Y
Bo = (0o ~ [bo,n + o,y +bg al) Y
g = agg [X/y]

by = bao [2/Y]

ay=1, byp=-0,4

n = Mex -
ag,y=ay(Y/Y1g-1)
b, y=boy(Y/Y1g-1)
a,y=0,020,b,,=0,020
ap,=0,020,by 4=0,020
Munsell System Y,,=100, Mex

10

Ao

520 Munsell System Y,=100
152231 C=2,V=1, 2,5, 8 & 9, Mex
irgstohe chromaticity diagram (x, y)

CIE 1931 X

Xa=96,79.Y,~100,00Z,~11146 B,
X=0,3140y,=0,3243
Ao = (@~ [aon+ 20,y +3al) Y18 (Y/Yy

1

Bo = (b~ [Bon +bo,y + boal) Yas (YY1 /3

a9 = ag [x/y]
by = byo [2/4]
=1, byp=-04

n = Mex -10
80,v=ay(Y/Y1g-1)
Bo,v=boy(Y/Y1g-1)
8,y=0,021,5,,=0,023
ap,A=-0,030,by 4=-0,030
Munsell System Y,,,=100

i C=2,Vv=1,2,5,8&9, Mex T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*))
CE001-1A 6 CE001-2A_6
Xw=96,79,Y,~100,00Z,~111.46 B, Xw=96.79,Y,,=100,002,~111,46 B,
xy=0,3140y,,=0,3243 xy=0,3140y,,=0,3243 +
Ap= (@~ [asn*+ a1y +asal) Yig (Y/Yy f;% Ax= (@2~ [agn+agy +aal) Yig(Y/Yy f;%
By = (by — [y n+byy +by al) Yag (YY1 )13 By = (0~ [y n + oy +bpal) Yag (YY1 )3
ay = ag [(x—0,17D/y] ay = ayp [(x—0,17D/y] 4
by = by [2/4] b=z [(Mp1x+bpy)/y]
ap0=1, byy= 0,4 A a0= 1, by = 0,4 A
mr;=1,000, 1 Mp;=-0,169,0p,=0,389 \ 2
n = Mex 10 n = Mex -10 10
ay y=agy(Y/Y1g-1) ex 3 y=agy(Y/Y1g-1) ex
bl,Y=b2Y(Y/J18_1) 1 b2,Y=b2Y(Y/J218_1) 1
apy=0,021,b,=0,023 apy=0,021,b,4=0,023
a1 4=—0,030,b; A=-0,030 a A=—0,030,b; A=-0,030
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, Mex T-10 C=2,Vv=1,2,5,8&9, Mex T-10
chroma (A*,, B*;) chroma (A*,, B*))
CE001-3A 6 CE001-4A_6
Xu=96,79,Y,~100,002,~111.46 B, Xu=96.79.Y,,~100,002,~111,46 B,
*y=0,3140y,,=0,3243 3 X=0,3140y,=0,3243 4
A3= (a3~ [agn +agy +ag al) Y15 (Y/Y1 18 Ay=(@s=[agn+agy +agal) Yig (Y/Yy, f;%

B3 = (b3~ [b3n +bay + b al) Yag (YY1 1/3
ag = agg [(x—0,17D/y] 4
b3=hyq [(Mp1x+bp1)/y]
ayp=1, byy=-0,4 A

Mp1=-0,974,b;=0.658 3
n = Mex -10 10
a3 y=apy(Y/Y1g-1) 2

b3 y=boy(Y/Y1g-1)
apy=0,021,b,y=0,023

\
a3 4=—0,030,b3 A=-0,030
Munsell System Y,,=100

By = (bg — [bgn +bgy +byal) Yag (Y/Yy,
ay=ay[(x-0,179H] i
b=z [(Mp1x+bpy)/y]
ay=1, byp=-04

mp1=-0,169,bp1=0,389
n = Mex -10 10

a4 v=ay(Y/Y1g-1)

by v=boy(Y/Y1-1)
ay=0,021,b,,=0,023

a 4=-0,030,0 5=-0,030
Munsell System Y,,=100

Mex

T C=2,V=1,2,5,8&9, Mex T-10
0,0 0,2 0,4 0,6 0,8 1,0 chromaticity diagram (ag, bg)
CE000-1A 6 CE000-2A 6
Xy=96,79,Y,,=100,00,7,,=111,46 B1 Xw=96,79,Y,,=100,00,7,,=111,46 B2
xy=0,3140y,,=0,3243 +10 Xy=0,3140y,,=0,3243 +10
Ar=@-[agptay+taa) Y Ar=(@-[agntay+axa) Y
By=(by—[byn+byy+bya) Y Ba= (b~ [bpn by +bpA]) Y
ay =ag[(x-0,17Dh] 4 ay =ay[(x-0,179H] 4L
by =byo[2/4] ;=50 [(MpyX+hp)/y]
80=1, byp=-04 80=1, byp=-04
mr;=1,000, A mp=—0,169,bp;=0,389 ) ﬁ\ 2
n = Mex 10 n = Mex -1 ' &J ) 10
ay y=ay(Y/Y1g-1) M 85 y=ay(Y/Y1g-1)
by v=boy(Y/Y1g-1) by y=boy(Y/Y1g~1)
apy=0,020,b,,=0,020 ay=0,020,b,,=0,020 T
a; 4=0,020,b, 4=0,020
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,Vv=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8 &9, Mex T-10
chromaticity diagram (a4, b;) chromaticity diagram (a,, b,)
CE000-3A_6 CE000-4A_6
Xw=96,79,Y,,=100,00Z,~111,46 B, Xw=96,79,Y,,=100,00Z,~111,46 B,
X=0,3140y,=0,3243 10 %=0,3140y,,=0,3243 2.0
Az=(ag—[agn+agy+tagal) Y Ag=@s—[aantasy+agal) Y
B3= (b3~ [bgn+bgy+bgal) Y Bg= (b~ [bgn+bgy+bypl) Y
ag = ag[(x-0,179H] 1 8y =ay[(x-0,179H] 4L
b=y [(Mpx+bp1)/y] b=y [(Mpyx+hp)/y]
ay=1,byp=-04 A ay=1, by=-04 A
Mp1=-0,974,b;=0.658 3 Mp;=—0,160,b5,=0,389 4
n = Mex -10 10 n = Mex -10 10
a3 y=ay(Y/Y1g-1) 8y, y=ay(Y/Y1g-1)
b3 v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1)
apy=0,020,b,,=0,020 T ay=0,020,b,y=0,020 T
ag 4=0,020,b5 4=0,020 a4,4=0,020,b; 4=0,020
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,Vv=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8 &9, Mex r-10
chromaticity diagram (ag, b) chromaticity diagram (a4, by)
CE000-5A 6 CE000-6A 6
Xw=96,79,Y,,=100,00Z,~111,46 B, Xw=96,79,Y,,=100,00Z,111,46 B,
xy=0,3140y,,=0,3243 +10 Xy=0,3140y,,=0,3243 +10
As= (a5~ [asn+asy +asal) Y As= (s~ [a5n* 36y +agal) Y
Bs= (b5~ [bsn + b5y +bs a]) Y Bg = (b6 — [bg n + b,y +bg a) Y
a5 =ag [(x-0,17DH] 4L 8 = ago [x/Y] 4L
b=y [(Mpx+bp1)/y] b=y [(Mp1x+bp1)/y]
ay=1, byp=-0,4 ay=1, byp=-0,4
As As

Mp1=-0,974 b =0,658

n = Mex _10
ag y=ay(Y/Y1g-1)
bs v=boy(Y/Y1g-1)
ayy=0,020,b,,=0,020
a5 4=0,020,05 ,=0,020

Munsell System Y,,=100, Mex

10

Mp;=-0,9746;,=0,658

n = Mex -10
ag,y=ay(Y/Y1g-1)

b y=boy(Y/Y1g~1)
apy=0,020,5,y=0,020
ap 4=0,020,b5 4=0,020
Munsell System Y,,=100, Mex

10

C=2,V=1,2,5,8&9, Mex T-10 C=2,Vv=1,2,5,8&9, Mex T-10
chroma (A*3, B*3) chroma (A*y, B*,)

CE001-5A_6 CEO01-6A 6
X=96,79,Y,=100,00Z,~111,46 B, Xy=96,79,Y,~100,00Z,~111,46 B,
Xy=0,3140y,,=0,3243 1 Xy=0,3140y,,=0,3243 kid
As = (a5 — [a5n + a5y + a5 p]) Y15 (Y/Y1 1A Ag= (@~ [3gn + 35y +35,l) Y15 (Y/Yy, f;%

Bs = (b5 ~ [Ds.n + bs,y + bs,al) Y1g (Y/Y19)1/3
a5 =y [(x-0,179/y] 1
bs=hyq [(Mp1x+bp1)/y]
ay=1, byp=-04 A

Mp1=-0,974,b;=0,658 5
n = Mex -10 10
a5 y=apy(Y/Y1g-1) ex

b5 y=boy(Y/Y1g-1)
ayy=0,021,0,,=0,023

ag x=-0,030,b5 4=-0,030

Munsell System Y,,=100

Bg = (b6 — [bg,n + g,y +bg Al) Yag (Y/Y1,
g =g [x/Y] i
b=z [(Mpx+bp1)/y]
ay=1, byp=-0,4

Mp1=-0,974,00,=0.658 |
n = Mex —10 ) ‘
a6 v=ay(Y/Y1g-1)

bg,v=boy(Y/Y1g-1)
ayy=0,021,b,4=0,023

ag =-0,030,b 4=-0,030
Munsell System Y,,=100

C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chromaticity diagram (as, bs) chromaticity diagram (ag, bg)
CE000-7A_6 CE000-7N CE000-8A_6

C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chroma (A*s, B*g) chroma (A*g, B*¢)
CE001-7A_6 CE001-7N CE001-8A_6

TUB-test chart CEOO; CIE, y), chromatic valuesX, B;) and chromaA*;, B*;)

7o

Munsell Chroma2, Value=1,2,5,8 &9; experimental illuminant M (X, Y)ex=(0,3140, 0,3244)
C M Y [0] L WY
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